o 2%

41

41

()
+ 2% (Loss)*T 15
+2% (Loss) * 20
+ 2% (Loss) * 60

(Direct Material Cost)
(Direct Labour Cost)
(Factory Overhead Cost)

20
30
60

35
50
80



FCIN NI S =

(Direct Material Cost)

(Direct Labour Cost)

(Factory Overhead Cost)
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(Work in Process)

(Equivalent Units)

j
Pu, P2 P-|j P21, P22. pzj ....... pl

Py 1
PA 2
P |
P2

p2 -
pJ J
Pj J

P> T2 TEI-2. Ao Tj

T. 1
D 2
Tij J
T2

T2 2
T3 J

Ti J



47

0= J
Q= J
(Equivalent Unit)
(E)
Bl i
§-{@Py T+ Q- T/
Py = J |
Py = J |
B
j =
( - /
ERHT
= @)XW XY (D
( ) -
( + )X
= (W - WOIXE) X PW e (D
= (XM X W (D

J=(-(@2)-())/E+H
{4 (E) + 1 Wy xPg 3 (W Wp f} XEF+{ UXW 3] Xpwj / B+



Whj

Py
pw

Kg.

(Direct Labour)

(Standard Time)

(Factory QOverhead)

(Standard Time)
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4.2

43

El

Kg.

FOH

¢ *E,T1 ¢ ET1

t'"E T, t E,T,
c2e t, C*EIL
I EJ I %E T
i
j |
|
|
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43
Pi X
Til !
Qj !
L X
e X
¢3 X
Pg /
PW /
p L c2C3
PLC2 €3
Pi ( 44 45)
1
1 2
L

47

50

414
412

417
4.18
4.19



c2 (3

49
FOH 4.10

{{[ (B)+ 1 pW XPg - {{ W - Wpj} XB +{ XW ]} Xpwp/ B +§

= CL*E.Tj
[ E jTj

=7 VESNCE
TEjT]

]
=

[ I I N | i 1 1 11 11
&
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4.4

k40
2000

O O O O O O O o o o

44
45
4.6
4.7

4.8

4.9

4.10
411
4.12
4.13

FOH

k45 k50 k605 k650 845 850 1050 105 1055 1250 1255 1550 1650 2055
0 2111 1511 1579 500 3000

5000

0

0

0
1269
200
200

O O O o

0 0 300 3000
0 0 0 0
0 0 0 0
01100 0 0
0 0 0 0
0 0 0 ¢
0 0 46 5l
0 500 0 789
0 0 0 0
0 0 0 300

0 0 144

0 0 0

0 0 0

0 0 723
417 19% 0
0 0 0

0 0 0
% 0 0
0 495 2%
00 0 200
0 400 0

979

O O O O O o o

174

0

O O O o o o

160
30

100

O O O O O O o o o

100
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53

45

k40 k45 k50 k605 k650 845 850 1050 105 1055 1250 1255 1550 1650 2055

0 4300 1000 4511 500 6000 1600 2000 2130 954 0 0 0

1 0 102 560 1000 290 120 25 0 0 0
2 1560 2100 1400 1200 450 0 0 0 0
125 510 0 0 0 0

0 154 561 1260 301 0 0 0 0

469 1421 560 0 0 0 0

150 1310 300 0 0 0 0

787 300 500 0 155 100 0

500 122 0 0 125 0

0 1200 210 454 451 400 200 420 600 0 19 0 5

0 0 0 20 0

4.6

ks0 k45 k50 k605 K650 845 850 1050 105 1055 1250 1255 1550 1650 2055
0 5233 210 1640 234 4996 178 12528 430 1170 5100 0 0 80 95

47

- /
k40 k45 k50 k605 k650 845 850 1050 105 1055 1250 1255 1550 1650 2055

25 116 31 64 50 175 6 227 31 50 146 0 0 4 0



48

ki k5 k50 k605 k650

125
336
465
547
660
752
752
752
752
976
976
1062

49

97
312
421
41
540
624
624
624
680
922
922

1008

' 66

283
283
390
503
5%
5%
5%
5%
835
835
921

27195
135975

40792
54390

67987
54390

40792

67987

81585

27195

54390
652679

106
376
563
671
807
1008
1183
1276
1538
1800
1800
1893

9%
343
530
638
174
976

1166
1260
1522
1776
1776
1869

938
4385
1407
1674
2158
1694
1196
2312
2949

948
1850

21510

845

3
318
490
605
21
910

1088
1187
1436
1754
18%
2035

850

16
536
758
872
994

1215

80
347
50
634
7956
944

1402 1118
1504 1220
1803 1563
2077 1837
2259 1986

2406 2

OT.
5005
25025
7508
10010
12513
10010
7508
12513
15015
5005
10010
12012

= 172800

134

105

83
310
542
657
803

1016
1202
1301
1644
1937
2115
2263

10

87
387
570
697

1056
1253
1363
1741
2048
2246
2402

115
538
173
205
265
208
147
284
362
116
2217
2639

1250

92
178
1177
1324
149%
1716
1880
1987
2371
269
911
3075

1255

101

841
1281
1439
1624
1900
2107
2222
2644
2969
3183
3348

1550

115
1114
1554
1728
2036
2361
2693
2841
3465
3919
4183
4372

32200
16100

48300
64400

80500

64400

48300

80500
96600

3220
64400
77280

1650

123
1161
1634
1824
2132
2564
2896
3044
3716
4235
4532
479
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2055

147
1198
1671
1861
2169
2601
2933
3089
3802
4387
4700
49%

1053
4923
1579
1879
2423
1902
1343
2596
3310
1064
2077
24150



w oo e o

410

FOH

= 3696386

451626
431546
90015
800351
48754
897454
91454
21211
12454
415487
75469
145154
215411
3696386

FOH
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kd0
150

kd0
1.05

kd0
3

56

411

kab k50  ke05 k650 845 850 1050 105 1055 1250 1255 1550 1650  205f
220 250 370 300 360 400 470 52 530 520 667 750 870 1LY

412

kd5 k50 k605 k650 845 850 1050 105 105 1250 1255 1550 1650 2055
133 130 245 225 270 275 326 380 405 405 410 530 680 82

413

kd5 K50 k605 k650 845 850 1050 105 1055 1250 1255 1550 1650 2055
H H 8 ¥ B O B 66 8 40 & 4 4 162



Equivalent Unit

K40

11
5+ 1(,,

-

414

Equivalent unit

kd Kkd5 K50 k605 k650 845 850 1050 105 1055 1250 1255 1550 1650 2055

11
1+ Q" )
(1560x465)+(547x125) 793775
2000x125 250000
0x1062 0
(79377540-250000)/1062
543775/1062

512
14

Equivalent unit

Equivalant unit 512 6523 400 1777 441 619% 11 1253 42 870 5808 6

K40



= (B+1) x Wx Py
EO = 512
|_j = =25
\M = =15
Pg = Kg. =10
= (512425) x 15 x 70
= 56385
= {W - Wp)) x B + (X
wix RV
H = 512
\M = =15
W = = 1.05
i = =25
2 Kg = 20

{(15- 105) x512 + (25 x 15) }x 20
5358

= 3
= (56385 - 5358) /512 + 35
= 134.66
j
= CXETIZET
J=I
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- = = 772800

T = =106
1 6T = 1062 X512 + 1008 X 1523 ... ..., 12 X406
J=1 = 72491788
K 40
= (772800 X512 X 1002) / 72491788
512
= 1132
FOH
j
FCH= c2XBT/XET]
j=i
3 = = 963%
) = 512
T = 1062
j
X BT = 1062 X512+ 1008 X 1523 oo 12 X 4996
i=1 = 72491788
FOH K 40

(3696386 X512 X1062) / 72491788 [ 512
= 54.14

K40 = 13466 +11.32 5414
= M2

421



%

%

%

4.15

*%

k40

537

512

806

268

68947

51027

17920

5796

27722

102465

200

67.3%

5.7%

27.1%

k45

6638

6523

14604

5798

1134606

906301

228305

70098

335286

1539990

236

73.7%

4.6%

21.8%

k50

431

400

1078

558

78275

64275

14000

3927

18783

100985

252

77.5%

3.9%

18.6%

k605

1841

1777

6812

2458

571595

427658

143837

35863

171538

778996

438

73.4%

4.6%

22.0%

k650

491

441

1473

481

110253

93495

16758

8784

42015

161052

365

68.5%

5.5%

26.1%

845

6371

6196

22936

6206

1698224

1481364

216860

134431

642997

2475652

400

68.6%

5.4%

26.0%

Equivalent unit +

Equivalent unit

850

117

111

468

163

33945

29505

4440

2847

13619

50412

454

67.3%

5.6%

27.0%

1050

12762

12535

59981

19117

4255077

3816352

438725

285118

1363749

5903943

471

72.1%

4.8%

23.1%

105

452

421

2350

751

176881

149516

27365

10155

48575

235611

560

75.1%

4.3%

20.6%

1055

920

870

4876

1353

384740

314270

70470

22277

106554

513571

590

74.9%

4.3%

20.7%

1250

5954

5808

30961

7438

2250808

2018488

232320

190373

910573

3351754

577

67.2%

5.7%

27.2%

1255

40

15

2979

2493

486

214

1024

4217

703

70.6%

5.1%

24.3%

1550 1650
5 44
5 40
38 383
1 111

2605 30420

2405 24580
200 5840
233 2045

1115 9780

3953 42244
791 1056

65.9 72.0%

59% 4.8%

28.21 323.2%

2055

12

12

133

34

10584

8640

1944

639

3057

14280

1190

74.1%

4.5%

21.4%
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